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@g&ég & 820h

If anine digit number 389x6378y is divisible
by 72, then the value of \/6x+7y will be.
389x6378y o3 &b woSe Sogg 728°
QZorT grRoSwEB \[6x+7y Deod os?

3) Va3

A number when divided successively by 4 and

1)8 2)6
5 leaves remainder 1 and 4 respectively. When
it is sucessively divided by 5 and 4, the
respective remainders will be

a8 éogp?gséa 353 4, 5 oD grhoSe zﬁ%
SEK Bdren 1, 4. wand 98 Soggo 5, 4 oD
FPROBIT H3) S Faren oB?

1)4,1 2)3,2 3)23 41,2
The ratio of expenditure of A, B and C is
16:12:9 and their total income is 1530, their
saving are 20%, 25% 40%. The find income
of B ?

A, B 5805 Co oo gy 38 16:12:9.
0 @) a0 1530, 85D a0 BPEHeD
20%, 25%, 40% ©@ond B eswrcho dod?

1) 380 2)400  3)380 4)500
a:b+c=2:3,c:a+b=5:7then find the
b:a+ec.

a:b+c=2:3,c:a+b=5:7 wond8 b:a
+ C. Qend Do?

1)1:2 2)11:49 3)11:21 4)49:53
Cost of a diamond varies directly to the
square of its weight. A diamond broke into
four pieces with their weights in the ratio of
1:2:3:4. Ifthe loss in the total value of diamond
was Rs.70000. Find the price of the original
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diamond.

a8 Hezo Do) 8 T Y DBwE) Ie8
©5arE08° G0k, @ HePd) Trenrh SwBenre
éﬁ@ﬁ”ém. 8 oo DFy A 1:2:3:4
drfefréo Fod &r. 70000 o IHo 25{:3:)26).
©ond Slo Do) eden §8 Jos?

1) 100000 2) 200000

3) 80000 4) 85000

The ratio's between ages of Aand B 4:5. After
6 years A age and 5 years ago B age ratios
6:5. Then find the ratios of A age 10 years
ago and B are after 5 years?

A, B o %8 Schdne gy D8 4:5. 6
$0.0 SHad A HAy) wen 5 Do.o (880 B
S ek AP 6:5 @ond 10 Ho.o (BSo
A 5053 @i b Ho.0 hard B Sabhine
055 DY Dod?

1)1:2 2)2:5 3)3:4 4)52

Ifx is subtracted to each 21, 22, 60, 64 those
are in proportion. Then find mean proporation
to (x+1) and (7x+8)

21, 22, 60, 64 © L0& X ©J Joggd BB
8 edarsos® sotron. @ond (x+1) HBcs»
(7x+8) o Logissh edrardo od?

1) 15 2) 16 3)20 4) 24

A vessal contains liquids A and B in the ratio
5:3.1f16 litres of mixture are removed and
the same quantity of liquid B is added. The
ratio become 3:5. What quantity does the
vessel hold.

2.8 MEH08® A, B (Bare 55 )8 5:3. &
(BK00 B00& 16 Dy Qo(FSmR) &ohod 16
.0 B (Gard) 805, o) A8 3:5. wowd
& D|EHost &) (38 HOXTe0 DoB?

1) 15 2)20 3) 40 4) 30
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9.

10.

I1.

A & B started a business with Rs. 50000 and
Rs. 20,000. If A is warking partner and takes
20% of the total profit as his salary and
remaing profit it divided according to their
capital. [fin this process Areceived Rs. 38000
more than B. Find the amount of'total profit.
A 5805 B eo a8 apgaroed) 50,000 8.0
£r805» 20,000 &r.08° (PBodoB. A 9%
ayﬁ@ﬁg&b oo Hod Ingo 850t 088
20% #8o oo, A8 B g% 38000 Sr.en
QBT FP0LK. WS IBo ergo Jod?
1) 70,000 2) 60,000

3) 65,000 4) 75,000

Two places A and B are 60 km apart. Two
men P & G start from A, at same time & meet
first time at a place 12 kms from B. They have
to reach at A after immediate return from B, if
the speed of the slower person is 48 km/hr.
Find the difference of their speeds.

A %8050 B 3o S(;?Sm@ g 8o 60
8.5, a8t Hew P, Q en A 58 280
(@PB0g0HK. B IS 6 B Hod 12
8.8, Br808° Bendodotrds. $0c5n B $od
return @ond SHard A S8 Sendvotrd.
Spere 583 8 S50 48 8.8n./K0. eows
T8 Frre By BLo doE?

1) 26 km/hr 2) 28 km/hr

3) 42 km/hr 4) 24 km/hr

A train travels with some speed and two
persons travel in the same direction with
speed of 3 km/hr, 5 km/hr the train crosses
themin 10 sec, 11 sec. Find the speed of the
train.

2.8 Ben oF 88 3 8.8 /Ko, 805w 5 8.8./
Ho. Jr08® [Hasrding) gt et HET
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12.

13.

14.

10 ., 11 3. 08 8. wand © Ben GwE)
S50 Dos?

1) 25 km/hr 2) 20 km/hr

3) 15 km/hr 4) None

Taps A and B fill a cistern is 20 and 30 hrs
respectively. Both the pipes are opened to fill
the tank, after 1/3rd ofthe tank is filled, due
to a leakage farmed at the bottom of the tank,
1/3rd of the water is leaked. In how much
time, the tank will be filled.

8o De0 DEEM 2.8 €508 20 HBAS
30 Koted® Do, Bok OV (FBodod
1/3 o0& €508 JobS SBoars e ésfgoé)@‘s
58S HE S Botd pHwy TRoe Hobd
00 HBSE 1/3 S0k 2HB8 MWHod. @and
€508 DoHEPAE Dod DxvAho Ho&od?

1) 10 hrs 2) 16 hrs

3) 6hrs 4) 14 hrs

4 men ar 5 women can complete a work in
30 days.In how many days 3 women and 2
men can complete the work by working
together ?

2.8 DA 4 D% HHsven S 5 9 Geo 30
Seres® Johred. 3 Hd e HdH 2
DBoven EOD A Seres® ToHKesn?

3 7

1)23 2) 25 3)24 427

A contractor with help of 104 men can
complete a work with in 56 days working 8
hrs a day. But after 30 days 2/5th of the work
is only completed, the remaining work by
working 9 hrs a day. How many extra men
are needed.

2.8 SPo|ErEs 104 %00 56 Seros® &8 8
fobeo TIPS I 3 Ao esdyodo
B8y, 520 30 Sere Ehard 2/5 Ho
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15.

16.

17.

So(E3 DD I8 wondh. WADS HAD DHADS
0S8 ro Banes 8 9 Kobe P

HD DK od H0d eidore sead?

1) 60 2) 55 3)50 4) 56

The average age of 4 menbers 24 years 10
year ago, two children born in that family with
two years difference but these is no changes
in average at present, find the age of the
younger child.

Sentvdo éai)?SeJ Ko &énoo cﬁwé& QK€D S0
10 So.o (80 24re BEoord. 2 Yo.o oo
$5566° B8R g esowrdd. (B0 8
Rk Hs® dnFod Srdydh. © agd
2e&k DYl Sy Do&?

1)2 3)5 3)3 4) 6

The average weight of students of four classes
1s 60, individually the average weight of A, B,
C and D 1s 45 kg, 50 kg, 72 kg, 80 kg
respectively. The average weight of students
A and B is 48 kg the average weight of
students of B and C is 60 kg. Then the ratio
of number of students in Aand D.

Tentd S8K5%en A, B, C, D &% K)mf’?gégea

$oedB 2% 60 B.8.e0 QBJ&™ A, B, C, D
BB55008% Smegégo Vo0 aBHen HBde
45 8.8, 508.8. 72 8.8, 80 8.&. 55w

A 8o B Drgae BB @t 48 8.8
o0 Bk #BKKEen B 8csn C o Dargie
o8 @D 60 B.8.en wawd A 085w D
S5KH0SED g g Dod?

1)2:3 2)4:3 3)3:2  4)3:5
The quantity of canter needed to reduce 9 ml
shaving lotion containing 50% alcohal to a
lotion containing 30% alcohal is ?

50% @) 6 9 D.O. WED (@eSesod®
sSSP0 EE 30% eﬁgodm@é Yo 1
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18.

19.

20.

5050’ H%H Eord.

1)4 2)5 3)6 4)7
Rakesh earned Rs. 4000 per month. From
the last month his income increased by 8%
Due to rise prices his expenditure also
increased by 12% and his saving decreases
by 4%. Find the increased expenditure.
oER I0& 4000 Er.en $oFBOTD. @S
sTrdo 8% DBRE0 D ) 12% 2035,
HOBore @B Y 4% SN 008 DOAS
EBeE PLY) D0S?

1)3360 2)3800 3)4000 4)3500
The person sold an article far 96 in this time
he got profit percentage equal to numarically
C.P. then find the C.P.

a8 DD 96 Lo ey ol 088
SR 008 BE0 @I Dogygdsore FHI0s
J&ed0. @ond §°8) Jo do8?

1) 75 2) 60 3)15 4) 30

A shopkeeper purchased 15 kg of variety A
rice at Rs. x per kg and 10 kg of variety B
rice at Rs. (x+5) per kg. The shopkeeper sold
the whole quantity of variety a rice at 10%
profit and that of variety B rice at 20% profit.
The total selling price of variety A rice was
Rs. 30 more than that of variety B rice. Had
the two varieties been mixed and sold at an
overall profit 0o£20% what would have been
the selling price.

a8 Tuard A 880 o) 15 S.den X
Er.0 SHPS, 58 880 B Hasmgdy 10 ER-RSY
(x+15) &r.o FHPS £, w8dh A 8o
A=Y 10% e~gr8, B 850 g 20%
208 ey A 8o o & B 880 Hatigo
g 30 Sraroben dEND BTy Bo&oB
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21.

22.

23.

E02 (FHrR) 20% g8 o8 olyd Jo
Qoes?

1)25 2)264 3)30 4) None
A merchant is selling goods by importing from

. 1
abrad. he gets a discount of 335% on the

cataloge price, pays 20% impart duty on the
net cost ofthe goods and sells the goods far
a profit of 25%. If the catalogue price ofan
article is Rs. 3756, then its selling price is.

28 TR0 SHe DBe 008 BIHHS

VDS ©LpHTND. 0B h $5R 335%

&otn Frothdr, JEE 8 20% &IH%8
oo FYod), EI I 25% ergianSB
©30FD. .8 SNH TwE) wrdee o 3756

©oNS T @zéaééa’g) I Does?

1)4695  2) 11268 3)2857 4)3756

A person has Rs. 5000 in that some money is
given at 5% per annum for 2 years. And the
remaing is given at 8% per annum per year.
He collected from both of them Rs. 440 as
S.I. Then find the principal ofthe 1st part.

a8 %58 5 5000 Br.en Sowb. RS Lob

&0 griso 5% 25(2,3@68 2 %o.0 seerd8
DADS FEd 8% HETeE &l VoSS0
SeerR8 @Y 2. 59 9% H Dod 440

8.0 $hre 80870, @0 e grfo Jos?
1)2000 2)3500 3)3000 4)3600
Some ammount of money as S.I. after 3
years it will be 10,000/- and after 6 years the
amount will be 14500. Find the rate of
Interest.

Eod sy V8¢ $& (Psedo 3 Yo.o soeost
10000 &r.© Indorrsd, 6 Ho.o seeost
14500 Sr.© SnEorrd ©HB08. ®oNI

UNIQUE STUDY CIRCLE
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24.

25.

26.

$88en Do¥?
1)34%  2)35%  3) 27-2%4) 40%

Sujatha invested an amount with company y
far 2 years at S.I. at 20% P.A. The entire
amount obtained from company Y after 2
years, she invested in company z at C.I. at
10% P.A. far 2 years. If the amount finally
recieved by her was 93170 what was the
principal invested by her ariginaily with
company Y.

Depd 85 S8 6 SR 20% erHSG

Bend® 2 0.0 5208 o y & Degadm
e, 2 D0.0 SBoard SYPS D o
Z & 10% 3858 @sedo 2 $o.0 oS

gl Y™ Z 502d Dol o ISP
Swgo 93170 Er.en wand erd SHY 6
Sotser 5y dod?

1) 65000 2) 55000 3) 70000 4) 75000
A person takes sum of money at 15% per
annum for 2 years. The difference between
C.I.and S.1. is 2.70. Then find the principal.

a8 S8 §o8 Yoy 16% $E3ene® 2 Ho.o
58 T SHERD. PEHSE HOHH
SESGe Bre 2.70 Er.e0 wows BB @)

Q0.

1) 120 2)210 3)201 4)102

A and B complete a work in 20 and 15 days.
After working together for 6 days, B is
replaced by C and the remaining is completed
in 4 days by A and C. Then find in how many
days C alone can completed the work.

A 5805» B en $8%me 20 $805» 15 Seros®
BoHKed. a8 HID TOLEr EO% 6 BBaven
B2 8%ard B O $578) C $:5805H08° 0ndd
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27.

28.

29.

30.

I 4 Berod® g DT, wowd C el
A B’ g Dodhiterd.

1)70 2)25 3)30 4) 40

A mantravels, D.S. Some distance in 12 hrs
and U.S. The same distance at 18 hrs. Speed
of the stream is 6 km/hr. Find the speed of
the man.

2.8 B8 (Haris HIE® o8 8o 12 Ko.e
(@38 K580y BIS® wowd SrssHd 18
Koted® [Hosrdoh. (B S0 6 8.8./

50. ©o0d H2 Ko Dos?

1) 20 km/hr 2) 40 km/hr

3) 14 km/hr 4) 30 km/hr

What least number should be deducted from
9847 so that it gives remainder 9, 8,7, 6, 5,
4,3,2,1. When divided by 10, 9, 8,7, 6, 5,
4, 3, 2 respectively.

9847 o8 é@{é Loggdd &1325 DB
Soagd 10, 9, 8, 7, 6, 5, 4, 3, 2 0T gAY
SR 9, 8,7, 6, 5, 4, 3, 2, 1 3pen S
1)2286 2)2317 3)2288 4)2243
The H.C.F. of two numbers is 11 and their
LCM is 7700. If one of the number is 275.
Then the other is.

Botd Dogge K. F.gr. 11 Ho8csoaed Do)
.0 7700 . o éogpéeé's a8 Sogg 275.
®ond Bo&d éogp?g Qo&?

1)279 2)283  3)308 4)318
Ifr, s, t are prime numbers and p, q are the
positive integers such that LCM ofp, q is * x
s*x t%. Then find the number ofardered pairs.
I, 8, ten (5 Sogygen O P, geo &3 ?’.gyg
Soggen. P, o E.3r.5%. 17X 8* X 17 ety
AN, Eoaormen Eod.

UNIQUE STUDY CIRCLE
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31.

32.

33.

34.

35.

1)215 2)225  3)230 4)250

A boy contains 2 red, 3 yellow and 4 white
balls and a ball is drawn from it. find the
probability that it will be yellow balls.

2.8 %ot 2 AB, 3 B0Y, 4 3 woden
o). ®ond & Hod Hod al 208 Sohrr
88 D0, BorH doden rHedHd éoe,ﬂé?géé
Qoes?

1)7/9 2)1/3 3)2/3  4)4/7
Find the number of4 digits number without
repetition can be formed from 1, 2, 3, 6, 7,
8.

1, 2, 3, 6, 7, 8 9 &HBNOY, Kg)é@éﬁ@éo
B%owe [Teahie Teentd woge doggen ?
1) 200 2)150  3)300 4)350
Find the area of the circle inscribed a
rectangle. Length of 28 cm and breadth is 21
cm.

28 20.8. © &, 21 Do.&v.o Seny Ko
ég} S&8(Kos® eosBore DGoTES 9
S50 dod?

1)346.5 sq.cm 2) 340 sq.cm

3) 556 sq.cm 4) 640 sq.cm

If a person travel from one corner to it's
opposite corner by diagonally ofa square field.
Then how much percent distance decrease
when compare sides of square.

a8 8 SHYPEs geoé‘g 28 dore So&
QOB Koo el ghere Fond SPEOGP égo
Doesorr (HSrBoDHLoNE ©EH Jod o

P80 BROD HATBI.

1)28%  2)29.3% 3)30% 4)31%

A river 20 m wide and 10 mdeep is flowing
at the rate of 12 km/hr. The amount of water

that runs into the sea per minute.
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36.

37.

38.

2.8 36 @) 3en), 20 L, & 10 .
208 12 8.8n./50. S8 d% w0t
(B8P0 D ADLIE Qo (Harros.
1) 20000 m’ 2) 40000 m’

3) 14000 m’ 4) 160000 m’

4.1 cmand 4.3 cm Height oftwo cones radius
2.1 cmit merged and converting into sphere.
Then find the diameter of the sphere.

4.1 20.8., 4.3 20.8. Ko, wEUEHS 2.1
20.80.0 & a°§©°go 5o Bo dognHed O
EBA0D &8 t¥ore $mdy) B AE avgdo Jod?
1)6.3cm 2)56 cm

3)24 cm 4)4.2cm

I) A's contributin is 3/2 time B's

II) B's contribution is twice that of C

IIT) A's contribution is thrice that of C.

A, B 58cio C 882 a8 aegaroed) 15000
&e. 08 (FEodomrd. DosSo DHESE 08
S ergfo 3000 E.e0 @and 0% A soer
Qoes?

1) A &5 épadd B ¢odd epadd 3/2
den

2) B %08 2 E%éorg’ NEVN ?oécha)&ﬁ) &OT.
3) A 859) 3 Bég 5D el P
1)Iand II only

2) Il and III only

3)AllL II and ITI

4) Any two of the three

Ifkx? - 5x+ 6 =0. far roots to be inratio 2:3.
Then find the value of K is.

kx? - 5x + 6 = 0 Hobos» weere S A
2:3 @ondeond K Qensd dos?

1)2 2)1 3)3 4) None

UNIQUE STUDY CIRCLE
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39.

40.

41.

(5+246)° +(5_2£)*2"’ = 10. Then find x.

(5+2J€)*“3+(5—2£)X?73 = 10 ®wond x

Qend Does?
1) 23 -2 2) 23 \/5
3)2,-\2 4)2,-2, 2,-2

Three candidates A, B and C confested an
election. Out of the total votes on a voter list
25% did not vote and 6.66% votes polled
were invalid. C got 2450 valid votes which
were 40% more than that of B. IfA got only
40% of'the total votes, then who is the winner.

B0rpth egfhen A, B @0dm C a8 dEs®
BB Do, 8,608 erdEeSt Indo 868t 25%
b.en Ic0BSeH. LB BB 6.66% ey

B, C8 2450 Beyaren oy féx STmow.
©) B 808 40% 255, Iwdo &s® A8
40% SPBD 5 IRS AS?

HA 2)B

3)C 4) Can't be determined

We had 1000 gonts at the beginning of year
2001 and the numbre of goats each year
increases by 10% by giving birth. At the end
ofeach year we double the number of goats
by purchasing the same number of goats as
there is the number of goats with us at the
time. What is the number of goats at the
beginning of 2004.

kw2001 Voo @Sogios® 1000 Hse
EOA &Inm. O (DXDoBEo T ($H8
Jod&Bo e Hogyg 10% DXrHE0H. (58
Jod& 8o 2568 odw Hde &5ren Fokhso
oo e Sopg 3oy Iaxdw. 2004
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42.

43.

(@E0850&® Hse Dogy Dos?

1) 10600 2) 10648

3) 8848 4) 8226

Pipe A can fill a tank in 6 hrs. Pipe B can fill
the same tank in 8 hours. Pipe A, B and C
together an fill the same tank in 12 hrs. Then
which ofthe following statements is true for
pipe C.

2% A 6 Hovres® &roHiin Jodre. 2 B
% €505 8 Kotros? Qodred. 29 A, B,
C 892 o8 €508 12 Kotres® JoHried).
o 20 C %0 80b JTboKes® D&
53567

1) It can fill the tank in 4 hr 40 min

2) It can fill the tank in 4 hrs 48 min

3) It can empty the tank in 4 hrs 48 min

4) It can empty the tank in 4 hr 40 min

Two persons Ram and Shyam start
simultaneously in the opposite direction from
two points Aand B at 9:00 am. Each of them
rum towards starting point of other. After
crossing each other Ram and Shyam took
80 minutes and 45 minutes to reach their
destination. At what time they will meet each
other.

BB yen T°EH HBA B Dok FPaNoE

A 5850 B &od zé?gé’éégp 8IS D8 sewost
(B80T, 6.9.00 BE* (38 a8 H6°ES
GRelet 3(;260 ID S, BOEEL B
SoogE O°Q0 HOAN Fgmo S g
B5Hs55e8 80 Dwren, 45 AP A0

5Bob. ©ond $HeHos® wEBITEL Eeoild.
1) 9:45 am 2)10:00 am
3) 10:15 am 4)10:30 am

UNIQUE STUDY CIRCLE
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44. Anarmy of 1200 consists of Europeans and

45.

Indian. The average height of Europeanis 5
feet 10 inches and that of an Indian is 5 feet 9

inches and that of the whale army is 5 feet

3. ..
92 inches. Then the number of Indian inthe

army is.

a8 208 BOZ0s® crsiasKy L8
58St E0% Fwdo 1200 Hod IHen
Both. cHrEiHchy o) Sifen I8 5 Héy 10
Do, FFEEAHO @) HKien I8 5 Hey 9
B0tHen HBAD InEo PIBIO BE) SriED &)
5 28 3/5 m0Hen @ond Jod Lob grESasmen

Eodn?

1) 300 2)400 3)550 4)270

A couple has a son and a daughter. The age
of'the father is four times that ofthe son and
the age of the daughter is one-third of that of
her mother. The wife is 6 years younger to
her husband and the sister 1s 3 years alder
then her brother. The mother's age is .

28 BoHNHDOB a8 BB L0BAD 2.8 BeD
ST, So(d DAY &%6:% 0% Eod
Teenid Téy HOAD HIPT HHy) @ Y
260‘53@36‘5 &l e Sod. grdy &S g8 gods
6 Ko.e0 DB, LB B S5 V¥ 8o&s
3 Do.e0 BB 9008 89 H0Hy) No&?

1)42 2)48 3) 54 4) 63

Direction (46-50) : Refer to the following table and

answer the given question. Number of book

sk sold by 6 stores in different months.

Srsd (46-50): 6 5% 3% G, B I It

20AS DS e wlyso & (Bod BanSs® aXwio
220008, ®ond Bod BHDH KBS esareen

HBoKok.
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46.

47.

48.

49.

Stores | Store [ Store | Store | Store | Store | Store
Months | A B C D E F
January | 133 | 161 | 213 | 225 | 282 | 196
February | 183 | 123 | 277 [ 176 | 239 | 268

March | 278 | 154 [ 226 | 98 | 178 | 198

April 178 | 272 | 269 | 284 | 293 | 277

May | 264 | 107 | 237 | 167 | 379 | 237

Number of book sold by store E in March is
what percent less than number of books sold
by store A in May.

D J0&® P& A &% Hsee wito Eo8 $r0)
o0& PE E 6% Higsee eiiyio Devd Kosmhre
dod TEo E¥N?

1)30 2)32.6 3)333 4)452
What is the difference between total number
of'books sold by all the given stores together
in January and total number of books sold by
all the given stores together in April.

2350 S0 Bugo PGSR HYsee wiyso
DS Hoa DS Jos® Fwdo PGS
DR5ee RBo Jendd g B Dod?

1) 200 2)250  3)363 4)400
What is the respective ratio between total
number of books sold by stores A and C
together in March and total number ofbooks
sold by stores E and F together in May.

P& A 0050 C 08% Hijsre oo Deod
58 Bos® K W Jos® 20N YPEE 80k
Fo Hisre osiyso dends iy s
)5:6 2)6:7 3)89 4)9:11
Total number of books sold by store B during
all the given months together is what percent
ofthe total number of books sold by store D
during all the given months together.

P& D &° o) Iood® x8AS Iwdo HIsTen

9

50.

51.

52.

odygo DendHs® &6 B &t o) St 2bAS
QRsPO ©INEo Dend o0& FSo.

1)72 2)75 3) 84 4) 86
What is the average number of books sold
by all the given stores in February.

D530 I o) @350@382) o580 Dends Bijew
Qoes?

1) 200 2)211  3)212
Statement : 1) No Ring is Mango

3)215

2) AllMangoes are oranges
3) Some Oranges are Grapes

Conclusion : I) Some Rings are not oranges
IT) Some Oranges are not Rings
IIT) Some Mangoes are Grapes
IV) No Gvape is Mango

1) Only I & II follows

2) OnlyI and Either Il or I'V follows

3) Only IT and Either 11 or I'V follows

4) All follows

1) O 8o, S oD
2) o S 0&, B0
3) &) T°Boes, [PEe
Sossmen :I) Q) Borben, TrBoeen 5%

(D8erden :

II) &%) a*Bozsen, Borben 595
III) &) HeD&, ([@>gen
IV) & @8, Sraod 52

1) I $8050 I &o(E3 $8G56

2) 1 58050 1 Soe [V 808G

3) II sosaso I Soe 1V 885056

4) o) SO>I

Statements : 1) Some Chairs are Tables
2) Some Tables are stools
3) All Stools are Doors
4) No Door is Book
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Conclusion : I) Some Doors are Tables
IT) No Book is Table
[IT) Some Tables are not Books
IV) Some Chairs are Doors

1) Only [ and II follows

2) Only II and II1 follows

3) Only [IT and 1V follows

4) Only I and I1I folows

D8eJen 1 1) Y é)éz)e:o, Qe

2) Q) age, 8y83em

3) o $6000, SenHen

4) d e, DI 520

I) &) Senghen, agen
IT) & 5385, 2 s
III) &8 axgen, HyEL0en s

50226;633&» :

IV) ) $8)en, SendHen
1) I 9805 1T $6&59
2) 11 L8080 111 58050
3) Il 208080 1V %8305
4) 1 50805 I11 $6&H5D
Direction (53-55) : Eight Persons P, Q,R, S, T,
U, V, and W are seated around a circular
table. Three of them are facing the centre and
remaing are facing outer side.
Two persons are sitting in between V and W.
Immediate neighbours of T faces opposite di-
rection. Two Persons sit in between T and V.
R 1s second to the left of U, Who is facing
the centre, Q, who is facing the center and is
third to the right of T. S is not an immediate
neighbour of W. R is third to the left of S,
who is second to the right of P, Who is facing
outer side. S is not opposite to T or R.
S (53-55): PQ,R, S, T, U, V $8c50 W
8 Hobd Jgen el [ISEH ay ép
Sullevfelatvol dHost Ewlgtey Bo(BEn TP &

UNIQUE STUDY CIRCLE
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oG, HADS T8 SolEEnd HBTE HES®
HeHHoaD. V 508asn W e Loty aesth yden
Erdnodn. T & adhgdHe &) SgEhen
2.808°8%H Eﬁegé’aégp BIS® ErEn0a. V $o8aso
T o o agdh e sronoad. R, U &
Boud Qs FH ErEnNoRH Hds» U,
BoBswi 508K, Q, BolBEmwd SR
o0k T & Lorids HEIH Erdyyoso. S, W
S B EeSm. R, S % Sorsd 2k
3D ErE)oa. 508w S, P & Boksd HEIH
Erdnoasn. P, So(@Hndsh Eééé’é'c%é oISt
Eroa. T & md, R& md S akdore
ErE)STec.
53. The immediate neighbours of S is.
S & s508Der &) HHeo AS55?
I)V&P 2)U&T
3)V&U 4)R & Q
Who is to the immediate right of Q.
Q & 8% HETH &F) 8 ASH?

54.

1)P 2) W 3)R 4)U

55. Which five Persons faces outer side.
Bo|$snss zé?gé’é‘cgsp BES SoenInIlatlotle
ANE?
)P,R, T,V,W 2)P,R, T,U W
3) bR, T,V,S 4)T,R,S, U W

Direction (56-58) : Complete the following series.
SoeSS (56-58) 1 5 (8od (BB IrBoHE®.
56. 27,81, 106,742, 863, 11219,

1) 11508 2) 11608
3) 11708 4) 11808
57. 1000, 10010, 11110,101010, 111100,
1) 1001100 2) 1001110
3) 1101110 4) 1110001

58. BMKH, WRLN, DPMK, UOIJK, FSON,
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59.

60.

Direction (61-62) : Find the odd one out.
$eSS (61-62) @ YHshore &)B Beodsm.

1) WQLM 2) SLGH

3) SLHH 4) TLHH

In a family of six persons A, B, C, D, E and
F. B is the son of C, who is the husband of A.
E is the brother of C. D is the daughter of A.
F is the brother of B. Then how is E related
to F.

1) Uncle 2) Maternal uncle

3) Grand father 4) Cousin

A, B, C, D, E 0800 F en 28 Senosns®
$ggen.B, C &g 55080t 080 C, A &),
g8, E, C &) Bestoed. D, A &) S50°8.
F, B Gw¥) 355t wows E, F & 050r0%?
1) 23s0(& 2) S

3) ardaky 4) &8

Pointing to a girl a Boy said, "Her brother's
father's wife is my grand father's only son's
Sister". How is Girl related to Boy.

1) Sister 2) Sister-in-law

3) Cousin 4) Aunt

a8 OB SrHET e erentd &8 DPA0re
T, 8 PEH Sol Roog), e85,
BPEMD DB HHrdSE V8O wond @ e,

& 2PeNNE) DXHX?
1) k58

3) 88

2) $6%
4) s

61. 1)56:121 2)136:767
3) 768 : 1635 4)32:736
62. 1)DH: 64 2) EI: 196
3)LB:48 4)GC:42
63. 356:244::7543:
1) 187 2) 197
3)177 4)167
UNIQUE STUDY CIRCLE 11

64. HDMB:180:: LEFK:

1) 289 2)361  3)411 4)200

Direction (65-67) : Seven Persons A, B, C, D, E,

F, and G are working in seven different Com-
panies TCS, ITC, Reliance, Infosys, Dell,
HCL, and Wipro and all are belong to three
different Cities Patna, Bhopal and Ranch.
Atleast two friends belong to the same city.
C does not work in Infosys. E works in Reli-
ance and belong to Patna. Abelongs to Ranchi
only with C. B works in TCS but does not
belong to patna. F works in Dell but does not
live in the same city as B. G does not belong
to Bhopal. The Person who belongs to Ranchi
works neither in Wipro nor it ITC. None of

those who live in Patna work in ITC.

S35 (65-67) : A, B, C, D, E, F %805 G o3 7

5 Sgen DN oden wond TCS, ITC,

Reliance, Infosys, Dell, HCL $08a50 Wipro
o $ T50HoRB. DB ®oBd Hord
SrBH0en wons S, SIS L0850 Troderd
Bobdard. EI%0 a8 HKer af SKHoeRS
BoBIT.

C, Infosys &® %2 Joswes . E, Reliance &°
50 BSnHoBK bk PENE BodS K58,
A, C & 502 0°008 Sr@h Bodd ke,
B, TCS & 2 @csnHorn. 590 Srem
306 %58 seeh. F, Dell & H BowHorL.

=0 B 25%0h $K5808° dHohedsh. G,
FFESH BobS 8. TodE’ Do KB SR
grce Wipro ¢ m9, ITC &% a3

BB e PN Bob O K8 e ITC
& 50 Jasoes e

. In Which company does G works.

G 9 802dS® $Q BasnHhorkn?
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1) HCL 2)ITC
3) Wipro 4) TCS
66. D belongs to which city.
1) Patna 2) Bhopal
3) Ranchi 4) Can't Say
D & 31555088 B 587
1) arery 2) xS
3) orod) 4) Bo"aa)égzﬁn

67. Who works in HCL.

HCL &® 25% $9 Sciwshorn?
HA 2)D 3)B 4)C

Direction (68-70) : Study the series carefully and
answer the questions given below.

J59 (68-70) : & (808 2D (BB K00 B
(DHOB JBGS Jrerdo SBensd)sdn.
C#5TB6@WHRSL9£ K27D7?M

68. Which element is 7th to the right of 9th ele-
ment fram left of Ist and [Ind half of the above
series is reversed.

23 2O (BHS® I0sB $00ckw DHO Botd I
A TaRNVIISINYY zé?gé’ééé BES® (8 Braed DD
o0& 95 HoreBindH HAIDS 7S5 Sreso
d6?

1)2 2) £ 3K 4)7

69. Ifwe dropped all the numbers in the above

series then which element is 6th to the right of
the element which is exactly middle of in the
remaing series.
23 2D (3BS° o8 Fohodd Shard
DAY &) @58’36’5 piBomr gy e
oK HE IH 65 Horeshn dNE?
HM 2)D 3)# 4)?

70. Ifwe cancelled every second element from
right in the above series then which element is
3rd to the right of 5 element from left in the
remaing series.

UNIQUE STUDY CIRCLE 12

71.

72.

73.

74.

28 ad)d F8S° H& Dol Iwden Y (S
Bo&N HoreBind &oNodd $tars oAd 6
Q. 508500 AL o 55 Sredsn $5,

HEIHS 3% oo dpB?

1)K 2)2 3)D 4) £
Inacertain code 'LEFT"is coded as 63310.
Then how is RIGHT be coded.

o8 H0gris® 'LEFT' & 63310 e (@eckhre
08 588 RIGHT & der (aeoshisesn?
1) 964410 2) 95449

3) 954410 4) 96449

In certain code ' GEOGRAPHY" is coded as
'KRGHWCKRB'. Then how is 'QUES-
TIONS' be coded.

af Sogrdes® 'GEOGRAPHY' %o
'KRGHWCKRB' re 858 S5 o8 5863t
'QUESTIONS' der 856 Schiteosn.

1) WHWRXWQQJ 2) WHVRYWQQJ
3) WHWRYWQQJ 4) WHWRYVQQIJ
Inacertain code.

28 HBePRst

Win Min Fin means ALL. THE BEST

Bin Fin Tin means WRITE BEST EXAM
Zin Rin Bin means EXAM IS WELL
Then find the code for 'BEST EXAM'.
oo & $05738® 'BEST EXAM' 86 H0é&?
1) Min Bin 2) Fin Bin

3) Tin Fin 4) Rin Bin

Ifevery alternate letter from left in the alpha-
bet letter are written in small letters and
remaing are. Written in capital letters, then

how will the word THREADBRE' written.

@0 ©F85rest A Kod Inden B 8
Bots eEBEN D) ©FESeoT [0 LB
DA wEETOD i OFSEDeOT (RS &

'"THREADBRE' o$ &$$808 doo
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75.

76.

77.

78.

(ERaDreEN?
1) thrEadbAre 2) thrEAdbAre
3) ThrEAdbATE 4) thrEAdbATE

Find the wrong Number from the given se-
ries.

B (BBS® Spre ad@as Sogy AB?

6, 16, 57, 244, 1246, 7506

1) 244 2) 57 3) 1246 4) 7506
Four positions ofa dice are given below. Iden-
tify the number at the bottom when top is 6.

2.8 aPO% @w¥) 4 S Heodmen (Bods BdEo
2B8A%. TBS a8 Hwost D grros® 6
6?6&55 (Bods grios® &0t 03550 ELAPL0Xm.

PPOY

1 2)3 3)4 4)5

A man facing towards south - East turns Left
=90 Right = 135°, Left=90°, Right =45°,
Left = 45° continuously. In which direction
now he is.

2f $88 8w HI D Swpo VTN, WEH
JEH = 90°, HA& =135° & =180°
H8=45" JEH0=45" S5 BBASLHONE,
R85 085 O 6F 3HS Sowo STk,
1) South - West 2) North - East

3) North 4) East

In the evening before sunset at 6 P.M. Rohit
stands in front of a 'Electric board'. if the
shadow of Board falls just left to the Rohit.
Then in which direction is Rohit's Face.

1) East 2) North

3) South 4) West

UNIQUE STUDY CIRCLE
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79.

80.

81.

82.

2.8 Ao Hiaos® 8588 el B0 RS
ABore Both. ol I © $Hohod® E80eS
PSS D) A 6°rEH 8D JHS &)éond
8%2r8 O BIJH Swgo BTN.

1) s 2) a8%0
3) &58eastn 4) B8
cK|16 9 |JR
os|24 19 TX
KM|? 2 |PV
1) 56, 84 2)21, 14
3) 84, 56 4) 14,21

2 5 6
O @

3 3 2
1)21 2)22  3)25 4)27

Which interchange of signs or numbers will
make the following equation correct.

& (8o B d8Swos® O KBS HEO,
Bogged BB B9EE B BPESEH0
08 onIB @rHD.
(7+2)x3x4-1=20
1)2and 3

3)7 and 3

Indentify the diagram that best represents the

2)x and -
4) +and x

relationship among the given classes. Brother,
Husband, Men

RELBD, g8, DB, HBEweB Ho00§How)
%6 wond IS YFo & (Bod TAS® H&?
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1) 2)

00

1y

3) 4)

83. Inthe given figure, how many people study
only 2 subjects.
S0m 3o JgHoH S S0 AgEen

oBBK?

Chemistry

111 2)23 3)12 4) 40
Direction (84-85) : In these questions, relationship

between different elements is shown in the

statements. The statements are followed by

two conclusions. Study the conclusions based

on the given statements and select the appro-

priate answer.

1) If only conclusion I follows

2) If only conclusion II follows

3) Ifeither conclusion I or I1

4) Ifneither conclusion I nor II followrs.

UNIQUE STUDY CIRCLE 14

JeSS (84-85):8 (8o adyS @/J'S/&QJGSB Bod
(D8erSen, écfgzéaﬁwe» a0 aBAI6. ol
DELB0H egedorr ED S éovézézéw

08 ©andd) EPo0.

1) €00 58 eondd

2) 800 11 %86 @wondd

3) oo | Soe 1158 @ondd

4) Bdosm | Hoasn 1188 wondd
Statements : B>C=D <E <P
Conclusions: ) B>E

H8edew: B>C=D<E<P
&oussmen :1) B>E

Statements : W >Y=X>Q>S
Conclusions : )W >X

D8k : W>Y=X>Q>S
doussmen : HW>X MHw=X

A watch which gains uniformaly is 4 minute

84.
) C<P

) C<P
85.
) W=X

86.
slow at 9 A.M. on sunday, and is 4 minute 15
sec. fast at 9 P.M. on upcoming Friday. When
was it correct.

a8 KAXPEH0 NE ErdEl0nmr DSwodsor
SO, & KEATEosn ebTedsm 6. 9 &
4 DDHRD0en Bzﬁ)é&m, PRblolovhy) éc"&e‘é 2533 5
(BarBo oo(@. 9.00 & SrR5Eond 4 AQHS0e
15 28Jen wodore $tg)d. ®ond ©
HEXPE0 Ao 88 ®od Joafood

Qe 0.
1) 2AM Thursday
2) 6 P.M. Wednesday
3) 1 A.M. Wednesday
4) 6 PM.
87. At what time between 10 to 11 O'clock
minute and hour hand will coincide or makes
0° angle.
10 K008 83w 11 Kotredd zﬁ)cﬁé oot
8o doen ‘0 880t &K dako
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UNIQUE STUDY CIRCLE

88.

89.

Direction (90-92) : After coloring a big cube yel-

Q35S (90-92):208 508850 BoE) ) 58BN

90.

91.

92.

EDFAPo0?
7 2
10:43— 10:38—
D 11 2) 11
6 10
10:54— 10:10—
3) 11 4) 11

On what dates of March, 2013 did
wednesday fall.

2013 6025506065 e ) S 3d Bbdeost
0GB 0en H)?

1)6,13,20,27 2)5,12,19, 26
3)4,11, 18,25 4)7,14,21,28

If friday fall on 26 January, 1904, What will
be the day of 9 June 1904 ?

2.8 3¢ 26 22350 1904 BHS DHETEo SYPI,
1904 2=S 9 & aBo Ho.

1) Friday 2) Saturday

3) Sunday 4) Monday

low, it is divided into 216 equal small cubes.

HBo oKy IdD BoxE 216 DY DY)
10503 80enr S)ﬁ&oz‘i)égoaaé

Only one side coloured cubes are.

8500 a8 adb805nds o Ko Hodnen
A?

1) 64 2) 96 3)48 4)216
How many cubes will be achieved with two
surface coloured.

B0dn 2 Sodnod Soih Ko Hrddnen AY?
1) 48 2) 64 3) 96 4)8

How many cut will be required to divided the
big cubes into equal small cubes.

8 BYHenH0E o0 Hed HBEres0 Ko
8H0en EBB0HEE SPROIP oo éogp?g
Qoes?

15

93.

94.

95.

96.

1) 96 2) 48 3)3 4) 15

In a row of 16 boys, when prakash was
shifted by two places towards the left, he
became 7th from the left end. what was his
earlier position from the right end ofthe row

16 008 erPendd Ko el SEKAST, (HeR BwE)
3(;262633263 AL IDS Both 5(;&5"&:0 23D,
S XD S DHod 7D 5(;?6253326& S,
®and (8ogos® w8 Fwy) o H& ID

Sod Qos?

1) 7th 2) 8th 3)9th  4)10th
The sum of the ages of a father and a son
presently are 70 years. After 10 years the son's
age is exactly half that of the father's. What
are their ages now.

a8 Solf B0 ©E) HIPHE TnE) (B:NS
SoHENen wdo 70 JoHE)Bswen. 10 Do.o
EoRE HIPHE Do), 50y Sold )
260‘53@365 pNBorr Jiidn o, ®ond &0

HoHden dos?

1) 45 years, 25 years

2) 50 years, 20 years

3) 47 years, 23 years

4) 50 years, 25 years

In a group of equal number of cows and
terdsmen the number of legs was 28 less than
four times the number ofheads. The number
of' herdsmen was.

2.8 $rseod® ehen H80kn HHHe seHden
FSEVVIN) éoaa?gé‘s ok, & Hdumseost ¥ éospé
oo éogp?g @wé& 4 B&BH 28 e‘éé)&éém Zeod.
NS HHPH eH%e JnFo Yoyl Jos?
1)7 2) 28 3)21 4H14
How many triangle are there inthe following
figure.

&5 (808 He0&® (@ghHassne dogy dod?
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97.

98.

99.

1)18 2)20 3)16 4) 14
How many squares are there int he given fig-
ure.

&5 (806 H08° SEHERB0 dogy Do&d?

1)10 2)11 3)12 4) 14
If75$26=4, 69 $ 53 =7 then what is the
value 0f 82 $46 ="

2.8 3% 75826=4,69 $ 53 =7 0ow$82 $
46 =7

1)62 2) 56 3)0 4)91
Which number is present only in one geometri-
cal figure.

3 (8od QS & Sdogy o8 es*g&)aéo‘éa D(E5000
ESLATOIRERVEV (AN

UNIQUE STUDY CIRCLE
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100.

)3 2)2 35 4)4

In the following question, by using which

mathematical operatorts will the expression
become correct.

& (B0b SDosSws® & HBE Mo
602)26@0303 SN $&E8epmo ¥ ©ondd
MO0,

6973722272973
1)+ - > 2) +, +, <and x

3) +’ _’ > 4) x’ +’ <
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DoBSY, (HerdBo e  (HHES SI?

23565 )< é% 1) (B8 SSpe 2) $E% HSne
(5] 3) DBé eren 4) Degeroop S&
101. Assertion (A): Prime minister suraksha Bima | 103. Consider the following:
Yojana started on May 9, 2015. 1) Fringe Benefit Tax
Reason (R): In case of death or disability of 2) Interest Tax
the person due to any accident, the insurance 3) Securities Transaction Tax
Money is provided under this scheme. Which of the above is/are Direct Tax/Taxes?
1) Both (A) are (R) are true and (R) is the 1) 1 only 2) 1 and 3 only
correct explanation of (A) 3) 2 and 3 only 4)1,2and 3
2) Both (A) and (R) are true but (R) is not a Bod T8 HBrBoSos?
correct explanation of (A) 1) o 8e5 &r§)
2) $& By

3) (A) is true but (R) is false

3) REode B Dy
4) (A) 1s false but (R) is true

23 DO TBS® (858 55 / Ddnen D?

QBB 5w (A) BEedool® 8g Do e 1) 1,578 2) 1 58d» 3
3) 2 dA%» 3 4) 1, 2 B 3
$E8o B 9, 20155 (FrSodomedo. ) )L
104. Match the following.
HDH R): DB (HSrS0 S 558 SIS0 List - 1 List -II
B o S8ex0 2BAS & HEBo 8ol Diw A) IRDP 1) 1980
Reiiny ©OLETS. B) TRYSEM 2) 1979
DWCRA 1982
1) (A) $805» (R) en Bot a@K0 0805w (R) ©) DWC 3) 198
D) MWS 4) 1988-89
(A) & $8FoS Q58e. 1)A-1, B2, C-3. D4
2) (A) 5805w (R) ev Boh a0 =2 (R) 2) A-4,B-3, C-2, D-1
(A) & 508G DHBe SO, 3)A-2,B-1, C-4,D-3
4) A-3, B-2, C-1, D4
3) (A) %50 (R) @ardso ) A3, B-2, C-1,
238508000 ?
4) (A) aed50 (R) @ardso S o2
102. The major source of revenue for executing ) IRDP 1) 1980
Five Year Plans is: 8) TRYSEM 2) 1979
1) Direct taxes %) DWCRA 3) 1982
2) Indirect taxes &) MWS 4) 1988-89
3) Foreign loans 1) -1, H-2, »-3, &-4

4) Interest on investments
3) -2, -1, -4,

3
2) d-4, H-3, 2-2, &-1
4
4) 2-3, -2, >-1,
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105.

106.

Match the following.

List-1 List -1I
A)JRY 1) 1989
B) PURA 2) 2003
C) INNURM 3) 2005-06
D) Aam Aadmi Bima Yojana 4) 2007
1) A-1, B-2, C-3, D-4

2) A-4, B-3, C-2, D-1
3)A-2,B-1,C-4,D-3

4) A-3,B-2, C-1, D4

2388000 ?

edae-1 edze-2

) JRY 1) 1989
8) PURA 2)2003
%) INNURM 3) 2005-06
&) Aam Aadmi Bima Yojana 4) 2007
1) -1, -2, »-3, &-4

2) -4, -3, 2-2, &-1

3) -2, -1, 1-4, &-3

4) 9-3, -2, -1, &-4

Match the following.

List-1 List -1I

A) Exchange of Rupees in

Capital account 1) Padmana bhan

B) Supervisionof 2) Tarapore committee
Bank

C) PURA Model 3) Manmohan Singh
D) LPG Model 4)A.P.J. Abdul
Kalam

1) A-1, B-2, C-3, D-4
2) A-4, B-3, C-2, D-1
3)A-2, B-1, C-4, D-3
4) A-3,B-2, C-1, D-4
s 8HBo %M ?

erdar-1
D) Laredss graes®

a8z -2

UNIQUE STUDY CIRCLE
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107.

108.

109.

Srearane $0)8

) aﬁ?goéae o"aé?gégea
%) PURAXSSawme
&) LPGSSooear

1) 2-1, 8-2,
2) 9-4, 8-3,
3) -2, -1,
4) -3, -2,

1) $8T45S
2) &°oeE Ené
3) 25355(%{?5 20h
4) A.PJ. @eage? Eeoro
&-4
&-1
&-3
-1, &-4

-3,
-2,
-4,

Choose the correct state ment
1) In2011, the increase in woman was higher
than the increase in man

2) Buddhists and Jains are not majority in any

state ofthe country.
1) 1 ony 2)2, only
3) 1 and 2 4) None

OGS (DB JoHetold.

1) 2011° HBH0 SM0Ee Eod @o
DBDHEO HENST &0b.

2) BEoSD 008:/1065 Eoor 33"65(3&» B
Foen Derddmre S,
1) 1, S

3) 1, Hdasw 2

2) 2, SrE
4) Db
Unemployment insurance will result in:
1) Maintenance of consumption level
2) Decrease in consumption level
3) Decrease in savings
4) Increase in savings
Q6% s HOSorr.
1) DAGH .%C;on QB5es 2380100
2) &)K)@Wﬁ;ow éﬁgcﬁo
3) SHS® S5
4) P5HHS® SIS
Arise in “SENSEX' means:
1) arise in prices of shares of all companies
registered with Bombay Stock Exchange
2) arise in prices of shares of all companies

registered with National Stock Exchange
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110.

I11.

112.

3) an overall rise in prices of shares of group
up companies registered with Bombay Stock
Exchange

4) arise in prices of shares of all companies
belonging to a group of companies registered
with Bombay Stock Exchange

?05(\*)5068 BHEO @o&s?

1) erod 5 Jsf@oéé’s 3338 @) Boade
'5352 B8 BB

2) IX3S 3;5 cD'siDoéeS‘s SIBS 0y Bonde
'5352 B8 DB

3) arod Y8 aé(@oéés JIJr@S (e e
g0 1Y $Be Indo DEDE

4) erod 3;56‘5 $3SS Bonde HHmesHIS

B0OS @) gode faé FBe DG 58S

Main source of India's national income is from.

1) Agriculture 2) Industry

3) forestry 4) None of these
FPESRE PEODH ©Teased (Hred S$5?
1) Sgdcho 2) HBES

3) &3 4) &S 26 S

Who founded the Arya samaj in 1875 with
the aim of preserving vedic eulture.

1) Kamal prasad mishra

2) Raghupathi venkataratnam Naidu B

3) Rajarammohan Roy

4) Swami Dayananda Saraswati

38 SISEALRY 566503 éé%’goé’s 1875¢&°
BT5OXED .%5%30{526& AHDB?

1) 856 (HP6E iz

2) B5mHB JoBBE0 TPANED

3) U°&'°U°53‘°&6’5°5 TG0

4) A BAPHOE HEHB

Who among the following is known as the
father of Telangana Dalit movement ?

1) Arige Ramaswami

2) B.S. Venkatara

19

113.

114.

3) Batteni shyam Sunder
4) mader Shagya reddy varma

8od 8&° Beoorres 58 €855 HBPLTOIMP

2032838 ADL?
1) @83 m?ﬁa@ﬁg&b 2) 8.00R. JoBErDH

3) 283 350 0088 4) $68 eJ°rT°?SB§ 266&
Who presided over the nth Andhra
mahasabha hald in Bhuvana gint in 19447
1)Ravinarayana Reddy

2) Nauda mula Narasinga Rao

3) Jamalapuram Kesava Rao

3) Baddam Ella reddy

1944¢°  2055A0%  28As® 115
SO[FEIFIGFOH ©FES HZPoRIH IHEH?

1) oo movoﬁaeaBéé

2) SodHre ST

3) eoerHBo BIHTD)

4) eacgo cDe;f’Bé

Match the following.
List-1

A) Bahrramiya Ubrary
B) Andhra vij nona prakashini

library 2) 1923
C) AdiHindu Library 3) 1921
D) Vemana Andhra Bhasha nilayam4) 1941
5) 1926

List - II
1) 1918

E) Former's ebrary

1) A-3, B-1, C-2, D-5, E-4

2) A-3, B-5, C-1, D-2, E-4

3) A-3,B-1, C-5,D-2, E-4
4) A-1, B-2, C-3, D-4, E-5
23850800 ?

erdee-1 edae-2

Q) 8PT DA (oo 1) 1918
8) ©o(ERepd (©s°8Y (Hogreaho 2) 1923

) 96 &rodsr B@bd 3) 1921
&) 3% wolE Frar deaho 4) 1941
8) B (Hogreddho 5) 1926
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115.

116.

117.

118.

119.

1) -3, -1,
2) 9-3, 8-5,
3) 9-3, -1,
4) -1, -2,

-2, &-5,
-1, &-2,
-5, &-2,
-3, &-4,

9-4

a-4

9-4

-5

Doddi komuraiah beonged to which of the
following caste.

1) Gowda 2) Golla

3) Kuruma 4) Rajaka

&8 E5mB0%g (Bod o HerdE BobdaeH?
1) 2) P

3) BB 4) Sess

Who is the author of Hyderabad in
Retrospect?

1) Laik Al 2) Allwar jung

3) Edrus 4) A.G. Nurani
rioeers oS B R Hod SBand d5%?

1) ercHE @d 2) ©9dS5rSE woh

3) AEH 4) .8, Koo
Anon- merchant caste among the following
costes Identify ?

1) perikalu 2) Komatedly

3) kapulu 4) Baligaly

Eod Heres® Teedesy Sr00 52 Hoerd)
HBoHo&?

1) 288en 2) 85%508en

3) P 4) 2desen

Mir Osman Alikhan for preservation of mulki
Rules in which of the following number did he
sign the form?

1)1911  2)1919 3) 1934 4)1938
2633‘3)27 S HO8Ees &80 6 6@1’&5 EHBEWS)
Bod & Ho.0sb oY Bzea?

1)1911  2)1919 3) 1934 4)1938
Who was the first Mayor of Hyderabad
Nagar.

1) vasudevamodaliyar

20

120.

121.

122.

2) Kv. Ranga Reddy
3) mandamula Narsinga Rao
4) madapati Hanumantha Rao

3PeToerE $i56 BnSB HE IS5E?
1) o065 BoEORE

2) 8.2. 60(?6@

3) Hotdwe S&yorTED

4) SrEPE FLoosTeD)
Cooperated with the Jagan Mohan Reddy
Committee appointed to investigate the

shootings in Hyderabad who is Advocate

General ?
1) Shivakumartal 2) Rajaram lyer.
3) monappa 4) Sundaram pillai

rEorarS S 20AS oo TEBsd
AEDHODS SR S0E A H:EBODS
OEBE 2385 AHDH?

1) 83%H&r8erd 2) TPePT0 @0‘53?35
3)3e5) 4) oo %J‘g)

On which day gentlemer's agreement was
signed.

1) 20 February 1956

2) 21 March 1956

3) 1 Mya 1956

4) 19 July 1956

8 5050800 2.53)080 i Bodsren VK Ber?
1) 1956 358 20 2) 1956 &y 21

3) 1956 3 1 4) 1956 28 19
who published an auto biography titled
Insider"?

1) K.V. Ranga reddy

2) Tanguteri Angarah

3) marsi chenna reddy

4) P.V.Narasimha Rao

‘28 286 (S%50 2R DHE wsEEH
(HHB0DEE dS5H?
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1) 8.9. BorrBg 2) ©01Herd ©oesdig 1) Maktal 2) muktyala
3) Hol© BondE 4) 3.2.38%05%0°%) 3 Ghazwal 4) manthani
123. Gir glani committee submitted how many Boornd® ‘Sa@ch I sodho IEE
pages of report to the government ? oto?
1) 450 pages 2) 550 pages 1) &gS 2) S0z
3) 650 pages 4) 750 pages 8) kS 4) 08
AGED 88 27 Do TosH (Sedars 128. Who is the author of Tragedy of Hydeabad.
©05E208? 1) Laik Ali 2) Aliwar Jung
1) 450 Do 2) 550 fen 3) Edrus 4) A.G. Nurani
3) 650 Hfen 4) 750 Hfen B8 ©F TETErE SSans?
124. Which of the following meeting is called 1) ercHE @d 2) ©dr6:0R
"Dokha dinna Telangana" conference. 3) AER 4) 9.8. Hood
1) Bhuvangiri 2) warangal sabha 129. Which of the following dance is persormed
3) siddepet sabha 4) Suryapet Sabha on the day of dussehra.
‘&Par0) Boorre’ ¥E%y) © Bod d JFH 1) Bethala Dance 2) Garaga dance
DE? 3) Krru dance 4) Madili Dance
1) PSI8AB B8 2) oS K8 - @’365&2203 88507
8) dFHe B 4) Brogae B 1) o féso 2) K Ky
125. When did the central exposed the sri krishna 3) & $)d0 4) $89 Ko
committee. 130. Which street dance is performed during
1) 2010 Dec 2)2010 Dec 31 Bonalu festival.
3) january 2011 4) 6 January 2011 1) Rela 2) Garaga
Soo AP 3R EWB JBOEDH Dbe 3) Thimsa 4) Gussadi
Bhod? Frro Sotoll Sosgyor Depet T s 267
1) 2010 &2o026 30 2) 2010 &o=b 31 D3 2) K88
3) 2358 2011 4) 6 23356 2011
126. where Telangana writer's forum established v— . A
131. Match the following.
200 List-1 List -1T
1) warangal 2) Suryapet A) Peanut 1) Rs-1962
3) siddipet 4) Nizamabad B) Kandi (Arhar) 2) Rs-2060
20016® Boorre SSond IS AEHE C) Rice (Grade-A) ~ 3) Rs-2350
JeSee? X D) Comn 4) Rs-6600
1) $BoirS 2) T e
3) %gém 4) DeoeerE E) Sajja 5) Rs-5850

1) A-1, B-2, C-3, D-4, E-5
2) A-5, B-4,C-3, D-2, E-1
3) A-5, B4, C-2, D-1, E-3

127. Where 1s "Datta treya swamy' temple in

Telangana .
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132.

133.

4) A-1, B-3, C-2, D-4, E-5

23850800 ?

erdze-1 edae-2

D) IBEIN 1) &». 1962
&) gob (085) 2) &r. 2060
2) $8 (R&-) 3) 8. 2350
&) méﬁ@ 4) 8. 6600
=) g 5) &e. 5850
1) 9-1, §-2, -3, &-4, 1-5

2) 9-5, -4, 1-3, &-2, -1

3) 9-5, H-4, d-2, &-1, -3

4) d-1, §-3, 2-2, &-4, 8-5

Nant az underground nuclear reactor" belongs
to which country?

1) North Korea 2) south korea
3) Iraq 4) Iran.

“Serod gy SEAIA Bol30’ & B8
Stetartays

1) &85 &0ai» 2) cﬁgea &85
3) mo°8 4) 50°Q

World Bicycle Day was observed on June 3,
2022. But what is the theme ofthe 2022 year?
1) safer food, better health

2) Celebrate the becycles ortginality, diversity
and endurance being utilized for more than
200 years"

3) Dairy Net zero

4)Rising up from drought together

2022 a8 3% (H¥HoS DS B )P0
QEEroTED. oand 2022 ded &&Sséé“)zéo &),
B &?

1) 8ZED @580, DEHRS @0

2) 200 Jo5& oo P HBTA0EOER)
28Y I, JAFgo HBAfn I
SISO

3) g6 3¢ £¢

22

134.

135.

4) 802 5D S008 & SdKo
match the following regarding the prestigious

french open Grand Slam tennis tournament
2022

List-1 List - IT

A) women's singles 1) marcelo Arevalo,
Jean Julien roger

B) women's Doubles 2) Rafael Nadal

C) Men's Singles 3) Enasiba hara
wesley kulhope

D) Men's Doubles  4) Carolina Garcia -
Cristina madenovic

E) Mixed section 5) Ega Swiyatech

1) A-5, B-4, C-2, D-1, E-3
2)A-1, B-2, C-3, D-4, E-5
3)A-5, B-2, C-4, D-1, E-3
4) A-5, B-3, C-2, D-1, E-4

B EHEBH0?

erder-1 erdee-2

D) odr¥e DoAS) 1) $50y6° @B5’, &8
a~0cHS &%u8

8) Hogre Kend) 2) 89S TES

) DO BOAS)  3) dReTTe, 3
&S

&) DD Bandy 4) 88°0=e m8)ose -

B SR8
3) 2EE dgriio 5) g 9:0‘50‘57365
1) d-5, H-4, -2, &-1, 8-3
2) -1, -2, 1-3, &-4, 1-5
3) &-5, -2,
4) -5, -3, 1-2, &-1, a-4
How many member courtries are there in the
recently emerged indopacific Economic frome
work (IPEF).
1) 14 2) 13 3)12 411
sdSe @DGDoDI HOEE H2HE DETWE (&
Siev)] (IPEF) &t A éaﬁéc'ﬁvsb@ &0 ?
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136.

137.

3) €05 85 4) 50 K5
138. Match the following to the 15th cannas filem
festival?
List-1 List - II
A) Best Actor 1) Tariq saleh
B) Best Actress 2) meriu pole z
C) Best Director 3) Sang-kong Hoo

1) 14 2) 13 3) 12 4) 11
Which is the first Asian countryto legalize
the cultivation and consumption of cannabis.
1) vietnam 2) Taiwan

3) The Philippines 4)Thailand

Hoeran R0, DIl zﬁ%anc‘go DS &
RSP BEHO?
1) dcdhano

3) aaé’)gaq)%“)

2) 8

4) gronerol

Which legendary cricketer has been selected
as UNICEF "Good will Ambassador™" for the
20th time ?

1) Sachin Tendulkar ~ 2) Rahul Dravid

3) kapil ber 4) Sunil Gavaskar

Q1P HE S ©0erEbne SBKHde 208
FB Q0B Bifes (885 ASK?
1) 3D 80&&’@&5 2) oS (BDE

D) special Jury Award 4) park chance Hook
E) Bestscreenplay ~ 5) Tsar Amis Ibrahimi
1) A-1, B-2, C-3,D-4, E-5
2) A-5, B-4, C-3, D-2, E-1
3) A-3, B-5, C-4, D-2, E-1
4) A-4, B-5, C-3, D-2, E-1

238800 ?

edee-1 edee-2

D) 6B S 1) =°08 8 (o
(P TPIS)

D) 685 & 2) BTS2

Q) 68 BB 3) Jrohi-seoh Seoe
(&°85)

23

139.

140.

141.

&) RS 2750 o 4) FE) TF) FoE
@5S) en HST)
5) 5 @ Hlpdrd
(Bd 2)6)
&-4,
&-2,
-4, &-2,
-3, &-2,

=) 685 5 B
1) 9-1, -2, 3-5
2) -5, -4,
3) 9-3, -5,
4) d-4, -5,

3-1
3-1

2y—

a-1
Which middle Eastern country recently

changed its name to "Twerktye".

1) Turkmenistan 2) Tajikistan

3) Turkey 4) Timor-Lesti

D By Bdo adse 85 D LGS
BN BHH?

1) &8) AL 2) SR8

3) &8, 4) 8375 - B

Which premier franchise has own the 15th
Premier League (IPL) for the year 20227

1) Mumbai Indians

2) Chennai super kings

3) Lecknow

4) Gujarat Titans

20225 505878 BOAIHNS (HNHE SR
(©@52S) 155 Hae§ DB O (FrozE OD0s?
1) &woeran B0&EHR)

2) 3R o6 8oh)

3) @55\ 358 Bawodd)

4) HRTE BEry)

Who is the first women in the history of

Kashmir University to be appointed as vice

chancellor?
1) Fatima Akhtar 2) Ahmed
3) Zoya Tana 4) Nilofar khan

S 5or58)8 SBES® BT Feesm
QADNQDHBE BB &ETT IS 858’

Esplevys
1) P&Sr 9088 2) @313 @@&5
3) & ¥y 4) 56 goS
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142.

143.

144.

145.

Who created the record as the youngest
person to climb mount Everest?

1) Rhythan mamania  2) Arti chauhan

3) Garima Agarwal  4) Harpreeth Himani
cD:éBSQ BT ©{8 0D 08508 HX)
50O (10 d) stég éag}o{i)o& AB?
1) B8& HSeQsT  2) @b THES

3) K8 @roxS 4) SBBSE &osmd
Which organisation announced the 'Global
Health Leader' award for more than ten lakh
women asha worker providing health services
in rural areas of India.

1) American public Health association

2) world health organisation

3) The carter center

4) Centers for Diseas contral and prevention

PSS (rides (Frozee wdy DBt
56 ofed e DIrE v SHTH O Bog
o 2§ dEE ot HEBoD0R?

1) ©R00588 HYE I°d APFVEHRS

2) [HH0oS eéssﬁ?g éog

3)& 5°g5 o&s

4) Rot:8) $6 EdE Sols*S @0k BB
Who was the last Mughal Emperor to sit on
peacock throne?

1) Muhammad Shah

2) Ahamad Shah

3) Bahadur Shah - 11

4) Shah Alam I1

350D VOLFRBOP ERENK) DI TS SES
ANE?

1) SosesyB 2) osEys

3) 255886 -2 4) 3 soo -2
Which of the following is not a work of
Bankim Chandra Chatterjee?

1) Mrinalini

3) Devi Chaudarani

2) Bandjjeevan
4) Durgesh Nandini

24

146.

147.

148.

8od BS® 20800l S0P 855 0 DB?
1) &0 2) 20bdHS

3) 3D Tesooed 4) TR $0b
Which of'the following is not associated with
Dayananda Saraswati?

1) Slogan of'Go back to Vedas'

2) Cow protection and Shuddi Movements
3) DAV (Dayananda Anglo - Vedic College
4) Utopian classification of caste system

8o TAE® SoieSos ééé&é’é@’s Looo BIG
A0?

1) & 8J'°?S§ ¢ IeH DTG0

2) FE808ED 0o B eeiiren

3) DAV (850508 eaoi)f - 368) Sxoaee

1) o SHH TE) Bi5S) T $68Ge

Who was the President of Congress at the
time of Independence.

1) Jawaharlal Nehru

2) Babu Rajendra Prasad

3) J.B.Kripalani

4) Pattabhi Seetaramaiah

B0 SN S0 @EEHE HH?
1) 25506 orS o 2) aree TeFEolE (HFE
3) B.8. EHerd 4) $Hepd dErorsHhaty

Match the following by using the codes given

below.

Hindu organisation ~ Founder

A) Rastriya Swayam

Sevak Sangh 1) Shyam Prasad
Mukherjee

B) AllIndia Hindu

Maha Sabha 2) Dr.Hedgewar

C) Bharatiaya Jansangh 3) Madan Mohan
Malaviya

D) Hindu Mela 4) Nabha Gopal
Mitra

CHAITANYAPURI, HYDERABAD




UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

1) A-2,B-3, C-1, D-4 150. Which of the following is correctly matched?
2) A-2, B-3, C-4, D-1 Sultan Title
3) A-3, B-2, C-4, D-1 1) Ala-ud-din Khalji - Sikandar-i-Sani
4) A-3,B-2, C-1,D-4 2) Balban - Lakbaksh
238 DBHI0? 3) Qutub-ud-din Aibak- Zil-il-lahi
erdoe-1 ee-2 4) Iltutmish - Hazar Dinari
D) TG K’i‘?" 255 ;;5;33 . Bob ISP BB aSHES5DESE.
Te2 ¥e e 8>
9) efo ”6*’;3; O‘E:; ;’g o D)o 985 B - 28055 - a0
oo 2) e - e
R) 58D j?:j% AL W 3; éae_“janéﬁ 28 - ﬁéf;g—a@g?
8) ot e 4) S D 8 4) 3505 DR - a8 BTb
1) -2, H-3, -1, &-4 151. Who ofthe following is not known as Adikavi.
2) 9-2, H-3, d-4, &-1 1) Valmiki 2) Vyasa
3) 9-3, H-2, -4, &-1 3) Nannayya 4) Pampa
4) 9-3, 8-2, ®-1, &-4 Bob S @b 5 SQT?
149. Match the following by using the codes given 1) aog)&g 2) Tt
below. 3) Sty 4) Hoar
A) Rani ki Wav 1) Bhojpur 152. Match the following
B) Vimal Vasahi Temple 2) Khajuraho List-1 List-1I
C) Saraswati Temple 3) Patan A) Aurangzeb 1)Agra
D) Lakshmana Temple4) Dilwara B) Jahangir 2) Khuldabad
1) A-4, B-3,C-1,D-2 C) Shahjahan 3) Kabul
2) A-3,B-4, C-1, D-2 D) Babur 4) Shahdara, Lahore
3) A-3, B4, C-2, D-1 1) A-4, B-2, C-1, D-3
4) A-4, B-3, C-2, D-1 2) A-2,B-4, C-1, D-3
238 DB B0 ? 3) A-2, B4, C-3, D-1
wdze-1 ewdlze-2 4) A-4, B-2, C-3, D-1
Q) Toh 8eS 1) &5 o5 oinn?
8)) NS SJ&r oo 2) eSSy N PN
%) KB sodho  3) HES j;amﬁ L D e
&) o@e@ Barocho 4) Berqoe £) w505 9) Serers
1) 9-4, -3, d-1, &-2 @
2) 3-3, B-4, %-1, &-2 R et 3) s@o
3) 9-3. B4, B-2, &1 &) ePb 4) SpSeTroe, eorred
1) 9-4, -3, d-1, &-3
4) 9-4, §-3, -2, &-1 2) d-2, H-4, B-1, &-3
3) -2, -4, -3, &-1
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153.

154.

155.

156.

4) -4, -2, 2-3, &-1
Shivaji belongs to which of the following

Maratha families?
1) Bhonsle 2) Scindhia
3) Gaiekwar 4) Holkar

Bard 800 T3S D Hoocoe Hoewoardd
BobITTE?
1) &°0R
3) D=6

2) dodBT

4) "‘05°J°e>275

Which of'the following were the important
exports of Indus Valley Civilisation.

1) Textiles 2) Horses
3) Wine 4) Rice

5) Jewellery

I)1land5 2) 1,4 and 5
3)1,3,4and 5 4)4 and 5

Bod &S oSt K8 BooE) LoogygID
AHHoen AD?

1) SJeew 2) Koloeen

3) 3 4) &asgo

5) es838eaoen

1) 1 %8cs» 5 2) 1, 4 $83%0 5

3) 1, 3, 40080 5 4)4 08350 5
Bhagavad Gita is an appendix to which parva
of Mahabharat?

1) Adi Parva

2) Sabha Parva

3) Swargarohana Parva

4) Bheeshma Parva

52156@6 S5 E508% D B8 ©de0g0?
1) @&Kaé(so 2) dege 5’36(50

4) Hydt0

Match the following by using the codes given

3) &50366@83 K)(ﬁso

below.
Philosophy Founder
A) Purva Mimamsa 1) Kapila

26

157.

B) Uttara Mimamsa ~ 2) Jaimini

C) Samkya 3)Kanaada
D) Vaisheshika 4) Badarayana
1) A-2, B-4, C-3, D-1

2)A-2,B-4, C-1,D-3

3) A-4,B-2, C-1, D-3

4) A-4, B-2, C-3, D-1

QBDBHX0?

edee-1 edee-2

Q) ?’.g)vés & S0 1) 8%

) G380 2) B0

2) .%°ogp§ 3) 80K

&) @é%qé 4) 23reeoecHd
1) 9-2, -4, 2-3, &-1

2) 9-2, -4, >-1, &-3

3) 9-4, B-2, >-1, &-3

4) d-4, -2, 2-3, &-1

Which Sultan of Delhi shifted Ashokan pillars
from Topra and Meerut to Delhi?

1) Mahammad Bin Tugluq

2) Ghiyaz-ud-din Tugluq

3) Firoz Shah Tugluq

4) Ala-ud-din Khilji

2388000 ?

edae-1 erdeo-2

) Boxnd o 1) $88 S8
Q) 2.63&%33&;6_ 2) é’aéoésiéézég
) B3I DoweHd 3) agoﬁs ©&KS
&) 8BHBHES 4) é’aéazﬁéo%) o)

1) 2-1, -3, 2-2, &-4

2) 9-3, -1, d-2, &-4

3) ¥-3, -1, 1-4, &-2

D 8D oS SIS Db WSS Hob e
Soarek 898 SrorH?

1) 55 05 S 2) AdiredS i
3) 8% ar HisE 4) @e;:@éﬁ AL
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158.

159.

160. Who of the following has called the Indian

161.

Which of the following pairs is correctly
matched?

1) Chola - Kaveripattinam

2) Pandya - Uraiyur

3) Chera - Madurai

4) Parthians - Sagala

Bob zdes® & Q0P $0kO0H?

1) %% - =238 K:éagsao

2) aroly — GBCrE

3) 88 -8

4) Srgasigy Wife

Who among the following was the Chairman
of the States Committee of the Constituent
Assembly?

1) Dr. B.R. Ambedkar

2) Jawaharlal Nehru

3) Dr. Rajendra Prasad

4) Sardar Patel

8od ab&® oezgon HORESD m@go &
BEOST BB &TNG?

1) &°.8).es8. @0566275 2) 35578 erS IJSooe
3) e.ooEol (BFE  4) ded $EBS

constitutuion as a 'lawyer' s paradise.

1) H.K. Maheshwari

2) Sir Ivor Jennings

3) N. Srinivasan

4) Lokanath Misra

Bod a8t grsd TPeg0rTPR))  J5AS0areHe
dggorr %@g@g&?

1) HK. 263'5?%556 2) 058 BYoh)

3) N. §dz08 4) S5 Do|E
The Preamble to the Constitution of India:
1) Isnot a part of the Constitution.

2) Indicates the objectives to be achieved.

3) Cannot be amended by the Parliament.
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162.

163.

164.

165.

4) Is a source of authority of the Constitution
ofIndia.

GBS Toagol (DR

1) mwgoﬁoéﬁ g0 50K

2) oS OFRR eDRod

3) PER0ow TRT° DHBOLLED

4) g8 U%v?goﬁo (fﬁ;;égr PSP Korwo

Which of the following writs is related to the
correctional directions to subordinate counts:
1) Habeas Corpus  2) Mandamus
3) Quo-Warranto 4) Certiorari
Bobd T&S® DOGen HardIS EGe B
SBFOLH HooBHODHD?

1) TR0 528D 2) SrroiHo

3) 8'a°80¢5 4) 2B

Article 30 of the Indian Constitution deals
with the:

1) Freedom of conscience

2) Right to propagate religion

3) Right of minorities to establish and manage
educational institutions

4) Cultural and educational rights of the
majority community

OB E0S® H Td o&y?

1) @08 %) 2) 3@% DaoHo

3) U%vegoﬁ Kavéa& 4) U%v?goﬁ FlA)

In which of the following years, the
Fundamental Duties have been added in the
Constitution of India?

1)1965 2)1976 3)1979 4)1982
Bob & Ho&BoS® v U°33°?So?§oe3’s (EsigatavS
Deen 36sz%°on?

1)1965 2)1976 3)1979 4)1982
Which of'the following veto powers is not
possessed by the President of India?

1) Suspensive Veto  2) Qualified Veto
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166.

167.

168.

169.

3) Pocket Veto 4) Absolute Veto
8od A H Hes® whseoren grEs o588
8H?

1) S2)Q& Hest 2) 958_5‘95 R

3) 3ra¢5 Hest 4) @a»e)em?géﬁ_ &est
Who was the Speaker of the Lok Sabha
when the first Parliamentary Forum was
constituted?

1) Ms. Meira Kumar 2) Manohar Joshi

3) Somnath Chatterjee4) G.M.C. Balayogi
BB FPBEH0ed PSS QTED B5HH
S8E:0e8 85 NB?

1) 508 Hooosrs 2) HSEE &5

3) PG S0 4) 8.90.%. ePO@eH
Which of the following Articles of the
Constitution of India provides for the office
of the Chief Minister in the States?

1) Article 164 2) Article 167

3) Article 163 4) Article 166

el mwgoﬁo@’séo ® 88585 Tolgre Soggol®
HBAY ©o&nok?
1) eégée'ﬁ_ 164

3) eégééi_ 163

2) eégée'i_ 167

4) eégée'i_ 166

The arliaent passed the adinistrative Tribunals
Act in which year.

1)1985 2)1975 3) 1982 4)1987
FE 00 @&é&(fgéSE (Bengdy Fepdy @
éoéé{géoe’i‘s SIPR0D0H?

1)1985 2)1975 3) 1982 4)1987
Which one of the following States was the
first to introduce the Panchayati Raj system?
1) Tamil Nadu 2) West Bengal

3) Rajasthan 4) Uttar Pradesh

8od 8S* HomecH® ook NP &9 JeOre
BIEDES Too DB,
[5] &/

1) SFeeH 2) $8) Borrd

28

170.

171.

3) oS 4) 63853

Who of'the following functionary belongs to
the institution of Municipality?

1) Sarpanch 2)Chairman

3) Mayor 4) Councillor

Bod 7St JB> B NSRLES
BoOITE?
1) &80
3) Hs
Assertion (A) : In 1915 German geophysist

2) BES
4) Qb

alfred wegener proposed the continantal
drifit. theory in his book The origin of
continents and occans.

Reason (R) : Wegener proposed this theory
while studying the genesis of volcanic
mountians

1) Both (A) and (R) are true and (R) is the
correct explanationto (A)

2) Both (A) and (R) are true but (R) is not
the correct explanatin of (A)

3)(A)istrue (R)is false

4) (A) s false (R)is true

D@)BarEso (A) : 19158° &6&5 &cﬁw&&é
oowd SBF BEE 55 DRSS B ©dwS
95 SP0BR0ET B 2NHT S° Borre EBOE
Reposd) (D8IFHOTD.

HH (R) : Sowre 8808 drrosed) 3855
of)) JoEre PENED ©Eiedo 3@@3@&)
(HEFBoT.

1) (A) %80 (R) e Both a0 0650

(R)(A) & %8G D55
2) (A) %6050 (R) e» Bok H50 =A(R)(A)

CHAITANYAPURI, HYDERABAD




UNIQUE STUDY CIRCLE, CHAITANYAPURI, HYDERABAD. Ph: 9492459622

5 DO DHBes 52 1) egrodo
3) (A) >3350 (R) evaedsdsson 2) Begrodo

3) e SO DA WIS Hodd
4) (HODPI™O
23 DFY) wored® DB SIS SEEHSSD

4) (A) oa3550 (R) ard8m
172. Which among the following greenhouse gases

has the longest lifecycle in the atmosphere? Herddo Foh.
1) Water vapour 1) 2, 3 Hodcsw 4 2) 1, 3 oB» 5
2) Nitrous oxide 3) 1, 2 ndasw 4 4) 1, 3 o8as» 4
3) Methane 175. Which of the following processes contribute
4) Sulphur hexafluoride in an increase of population ofa region?
Bob (AS 58 srcwHed® 58 Toesssost 1) Natality 2) Immigration
Q&N EDSL(SRY EOA Gotn0b. 3) Emigration 4) Mortality
1) 38 0 2) 3R e Select the correct answer using the codes a
3) &3S 4) de)5 TrsRBE given below:

173. Which of the following is not correctly 1)1 and 2 only 2) 1 and 3 only
matched? 3)2 and 3 only 4) 2 only
Local winds Origin Ja Zonda & (Bob B O (BB &8 Froso EnE)
1) Zonda Alps aTrer DSOS o Seaw.
2) Loo Aravallis 1) 2255360 2) Sedoedio
3) Chinook Rockies 3) S &0 4) Hoee Bew
4) Bora Adriatic Sea fzi;if ,;% S g RO VR
808 TASE® KB 2385 S0EIB? 1) 1 $96650 2 2) 1 8% 3
P rreven Sareo 3) 2 £bako 3 4) 2, PSS
1) &fooe - 89 ) . . .
2) o - oD 176. Which of the following animals are priamtes.
3) Q%8 - ooden 1) Crocodile and tortoise
4) oo - o(BATBE “nltso 2) Rabbits and hares

174. Consider the following factors: 3) Leurs and lorises
1) Latitude 2) Longitude 4) Horses and zebras
3) Unequal distribution of land and water Bod e0dPes® (el dN?
4) Prevailing wind 1) 3500 $0d5 av8e

2) éaoari%%} B0 BHo Heged
3) B8y H6csn 86T
4) Hloren B Bleren

Which of the above factors influence the
ocean's temperature.

1)2,3and4only  2)1,3and5 only

3) 1,2 and 4 only 4) 1, 3 and 4 only
Bod s8zred HBKBOSOR?

177. According to the weight composition of'soil,
which of'the following weighs the least when
the soil is unsaturated?

1) Organic matter 2) Minerals
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3) Water 4) Microorganisms 180. Minerals on Earth mainly come from
Jo 2t ey (Bseto, Jo WKoBHHT 1) Magma 2) Fossils
RHPS 8ob TBS DO SED sotwod? 3) Meteoroids 4) Both (a) and (b)
1) Rolgod Kamvgo 2) glepen g0 8 leren (HERLorr der HIJon?
3) ;o 1) Srgghhen 1) DemEsso 2) Bereen

178. Which of'the following crops can be grown 3) oy 4) 1 £B85%0 2
in both Kharifand Rabi seasons in India? 181. The largest potential for small hydro projects
1) Rice 2) Wheat liesin
3) Groundnut 4) Jowar 1) Himalayan states ~ 2) Central India
Choose the correct answer using the codes 3) Western India 4) Coastal belts
given below: Bod & (@roBos® A% TE rRGEH ©dDY
1) 1 and 2 only 2) 2 and 3 only D0grdss God.
3)1,3and4only  4)Allofthe above 1) &rdroch ogpen  2) Hogy er8Eido
F6EB506° pbS SO & bage® & Bod 8) B grostido  4) EYS Bgen
TS O HobreD HoBoBHEY). 182. Which of'the following are not Rabi crops?
1) %8 2) R 1) Cotton 2) Gram
3) BB D EFY 3) Pea 4) Mustard
Bria% a0)8 SEed 43FrRD $BI Choose the correct answer using the codes
ISR DoHE% 8.
1) 1 5865 2 2) 2 £Bw 3 givenbelow:
3) 1, 3 8% 4 4) -:,3;5(8\)& 1)1 only 2)2 and 3 only

179. Which of these capitals in North-eastern 3)3 and 4 only 4) 2 and 4 only
India lie South of Kohima (Nagaland): Bod 8" 8D Howen 5V DD?
1) Imphal 2) Agartala 1) 28 2) e
3)Azawl :;z T’;Zﬁmma& aofﬁa;cz;aow
Select the correct answer using the codes 1) 1,508 2) 2. %85 3
given below 3) 3 o8k 4 4) 2 Ho8w 4
1) 1and 2 only 2) 3 only 183. Bura Chapori Wildlife Sanctuary is located
3)1,2and 3 4) 1 and 3 only in
Sy 58 LoD Bob TrarrHos® Erdody 1) Arunachal Pradesh 2) Meghalaya
(Ferreero) 8 Sgeore 2D eTnow? 3) Tripura 4) Assam
1) soaxrd 2) s
3) weS - a0° S0 Hilgalene wiicirdego S8 Gob?
%S BSwas SEoH GHRPACD BB Debmrdfgad  2) Diroad
DLl DoHELa. 3) BH3 4) ®Jm0
1) 1 HBck» 2 2) 3, Sr(E 184. The region in India that is most vulnerable to
3) 1, 2 oBaso 3 4) 1, 8aso 3 seismic movements or earthquakes is
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1) Western Ghats S[EW0T &5H HY seBore Gotnod.

2) Plains of Northern Uttar Pradesh 1) 6080 aBES  2) DEELo

3) Sunderbans Deltas 8) FolB¥ 4) 80 biso

4)The Himalayas 189. Electric power has the unit of.

FESBES® gD SEDEw Bre) agodre 1) Volt 2) Wat

S @08 B Wi (Foso? 3) Cotlomb 4) Ampere

1) H3y% Edosoen DegS $§ BE) (deea0?

2) 685 (HBEEE &85 Borrare 1) $°¢ 2) a5

3) 2085 o) Gegen 3) &renod 4) 902095

4) Sreirodire 190. Light fromthe sun reaches the earth in
185. Which of'the following is the longest river of 1) 45 minutes 2) 8 minutes

Asia. 3) 4 minutes 4) 2 minutes

1) Brahaputra 2) Indus KB K008 508 G Do Hey S0

3) Yangtze 4) Mekong )

8o &St eRasrs® w8REIS $6 D6? 1) 45 Dd.e0 2) 8 d.ew

1) @50 2) 20 3) 4 d.ew 4) 2 d.ew

3) asrof 4) Svseoh 191. How does the plant cell differ from the animal
186. Pulley in a belt drive acts as cell.

1) cylindrical pair 2) turning pair 1) Mitochondria

3) rolling pair 4) sliding pair 2) Cell wall

3G @56° ne¥ (Bod dorr HJ Bxyod? 3) Presence of Protoplasm

1) Sparsed el 2) Sroed 4) Cell nucleus

3) m%&é (B°00fwd) 4) ttd ad Eée)ééeao 2308 8808° D SHe Sotnod.
187. Who presented first the experimantal value 1) DoestseolBoie

of G. 2) Bea85%0

1) Newton 2) Cavendish 3) 6" KON sothe

3) Galileo 4) None of the gtttz

G Gt BETEE Do Fobes I 192. The larrgest invertebrate is.

©0BOTE? 1) Octopus 2) Squid

1) S50l 2) 5°308R 3) Coral 4) Jellyfish

3) OO 4) 23Dt ©8DY ©BIEEo.
188. The tendency of a liquid drop to contract 1) 8% 2) A6

(185) and occupy minimum area is due to: 3) Pargeen 4) 2§33

1) surface tension 2) viscosity 193. Chlorophyll contains

3) density 4) vapour pressure 1) Iron 2) Copper

85 Sfie HBoH DO €Y (EromR) 3) Magnesium 4) Manganese
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55653)665 &0 Soredo?
1) 33050 2) oA
3) bARcoo 4) $oidD
194. Which organism among these breathes from
skin?
1) Fish 2) Pigeon
3) Frog 4) Cockroach
$8) FRHBD sty £?
1) 3% 2) FHdo
3) 8 4) ﬁ"%oé
195. Night blindness is caused due to deficiency
of.
1) Vitamin A 2) Vitamin B
3) Vitamin K 4) Vitamin E
O DS S¥Ho o THES S5y0s?
1) QoS 2) &S &
3) DS 8 4) DS =
196. Which element deficiency causes chlorosis in
maize plant?
1) Nitrogen 2) Zinc
3) Copper 4) Manganese
SoBEY) a»égpﬁ O Hredo o S &86%%
3%008?
1) ePess 2) 208
3) o°h 4) $ordR
197. Which one of the following is a mixture.
1) Lime 2) Table salt
3) Sugar 4) Sea water
od TAS® HB W|Er0?
1) Lo 2) &endS .%"eg
3) S 4) 355D D
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198. In atom, neutron was discovered by:

1) J.J. Thomson 2) Chadwick

3) Rutherford 4) Newton

0 HE® SrErS EOAHH AXB?

1) 3.8, @?53‘35 2) z‘y&sg

3) 655 $5 4) S8
199. The shape of XeF, is.

1) tetrahedral

2) Octahedral

3) Square planar

4) None of the above

XeF4 Do) e:séaé’é dB?

1) 8lgr S 2) ozrES

3) Jde $eBRKo 4) s
200. Drinking soda is.
1) Neutral 2) Amphoteric
3) Basic 4) Acidic
&R B
1) ééaéo 2) &sécgeré oo
3) “5366(50 4) @é{)ﬂé&o
skekosk
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